3agzau

CKoNbKOo Km

npobexcum

zenapd 3a 3
yaca?




Penniteaue
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3ajad

Ckopocmb
HCYPABA-
Kpacasku 55
KMm/u.
CKo/1bKO OH
npojemum
3d 5 4yacoe?




Pernntenu

55" 5=275
%) . ¢ =

S







Jajzada:

3a dea uaca
Mopckou
KOMukK

npeodo.Jie 30
km. C kakou

CKOpOCIMblO OH
deuzaica?




Pennitenu

30 : 2=15 KM/u

V=S :

OTBe

Mopckoili komuk deuzajics co
CKOpPOCMbIO 15 KM/ Y.







Sazauy;

CHexcHblll 6apc
cnocobeH
6excams co
ckKopocmuio 80
Km/4. 3a
CKOJILKO
gpemMeHU OH
npeodoJjieem 240

Km?




Penmienu

240 : 80=3

( =S .

OTBe

240 KM CHeXcHbll 6apc npeodoaeem
3a 3 uaca.










Cnacubo
3aypok!




